Sr Questions Answers Choice

A, 1
B. I
& sk

]

1 L lsn & bl Lo 08 s (gt i)~ ke,

2 L3 Uiy S Jg) @ i,

3 Whies S5 & Al oS cabalis Gl S aisn f i,
4 Wiy K5 (%% o) 5 il 3 5 S5

5 (585 ) 5 o s e a8 2y 5 )
e
sl

Do)
/dl)la).ﬁl,a

6 dh._\XLAlSLI_Ji zkal,

@f e
PESEIES
S5l

ca

7 S 6 el e S B RS O a5 S

Adis

clay

ol 523 iy jud
sl

8 =m0 3l S e GBS b Sl

ose
BRI

J)

i o S

9 S o osh S dei el il (S 0S e i) e,

JJ
Ol
S
N
s
s

10 LS pandii (e 0525 8 L 095 S O o ol i S ol Syl

11 L Saa e iy ol S Sl S i (g3l 5 € et (6 ptiens (S 2 s,

sk

Adiu

sl
315a0 55y

12 L5 e sSall I (538 e S (S,

[(QEBANS
[CQEMANS KPS
K culali by 50

13 led e sl BS i,

238 e ) Ui

248 e ) U
258 e ) i
268 zase 5l U3

14 Ly L 1S Catlalis ) 5 1S 30 oL

» Uow » OUOW»r OUOWr OUOWPr ODOL»r OOL» DO UOL> OO OUOWP UOWP UDOWP UTOWP OO

15 i o e e S s (S adi gl



16

17

WS mad sk deSae npsas e el S dhugan Skl by e,

ERPEREC NN

B. 326 g I Ui
C. 336 g ) Ji
D. 346 g ) Ji

A 150 (e s

C. 350 e s (e
D. 450 (e s



